, a %2 Phép trir 2 chir s6

Tén: Ngay thang: Piém:____
/76 58 61 34 /3
-56 -13 -21 42 -73
75 82 49 40 64
~49 -33 -13 -35 -10
71 45 75 61 85
-15 -31 ~64 -28 -10
65 /76 38 87 63
-52 -71 ~64 -23 -35
93 87 36 /8 67
73 -38 ~56 -15 11
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, a %3 Phép trir 2 chit s6

Tén: Ngay thang: Piém:____
/76 58 61 84 /3
-56 -13 -21 42 -73
20 45 40 42 0
75 82 49 40 64
~49 -33 -13 -35 -10
26 49 36 5 54
71 45 75 61 385
-15 -31 ~64 -28 -10
56 14 11 33 75
65 /76 38 37 63
-52 -71 ~64 -23 -35
13 5 24 64 28
93 87 36 /8 6/
-73 -38 56 -15 11

20 49 30 63 56

www.snowmath.com


https://www.snowmath.com

